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j x*cos2x dx  (Use tabular method)
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Consider the differential equation given by i == .
X y

A) On the axes provided, sketch a slope field for the given differential equation.

(f,0\:u*('



C) Find the particular solution y = f(x) to the differential equation with the initial

condition f(0)=1. “5_)% _ _X 85‘1‘5 3& J)(,

D) Sketch a solution curve that passes through the point (0,-1) on your slope f eld. )




14.

dA
Given the logistic differential equation = = A (20 - ;), where A(0) = 15, what
is Ilm A(t)?

00

(A) 20 :-‘7.;( A (%O "’A\

(B) 40

(C) 60 |
e
| =¥O cw‘":s‘“%

o) )




